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Question71:-Which one of the following statements is false ?
A:-Goals of instructions are set in the post active stage
B:-Good teaching is both diagnostic and remedial
C:-Teaching is dominated by Communicative skill
D:-Learning is the acquisition of habits, knowledge, attitudes
Correct Answer:- Option-A
Question72:-The interactive stage of teaching involves the following operation
A:-Diagnosing the achievements of the learners
B:-Deciding about appropriate strategies
C:-Taking decision about the content
D:-Deciding regarding re-teaching the content
Correct Answer:- Option-A

Question73:-Which one of the following characteristics relate to nature of teaching ?
i. Teaching is an interactive process



ii. Teaching is task oriented
iii. Teaching is telling, showing and doing
iv. Teaching facilitates learning
Ac-i, i
B:-i, iii
C:-iii, iv
D:-i, ii, iii, iv
Correct Answer:- Option-D
Question74:-It is an important process that helps to know the progress of the student
A:-Teaching aids
B:-Evaluation
C:-Cognitive domain
D:-All of the above
Correct Answer:- Option-B
Question75:-Which of the following is the right order of Taxonomy of Educational objectives in the Cognitive Domain ?
A:-Knowledge-Responding-Imitation-Evaluation
B:-Comprehension-Analysis-Application-Organizing
C:-Knowledge-Comprehension-Application-Evaluation
D:-Imitation-Knowledge-Application-Evaluation
Correct Answer:- Option-C
Question76:-"Frames of Mind: The Theory of Multiple Intelligences" - is written by
A:-Daniel Goleman
B:-Anders Ericsson
C:-Howard Gardner
D:-George Siemens
Correct Answer:- Option-C
Question77:-With reference to the Gestalt Psychology consider the following statements :
(i) Max Wertheimer was the founder of Gestalt psychology.
(ii) Wolfgang Kohler and Kurt Koffka were other psychologists associated with Wertheimer.
(iii) Gestalt theory states that the total of the parts is equal to the whole.
Which of the above statement/s is/are correct ?
A:-Only (i and ii)
B:-Only (ii and iii)
C:-Only (i and iii)
D:-All of the above (i, ii and iii)
Correct Answer:- Option-A
Question78:-With reference to the Advaita Vedanta (philosophy) consider the following statements :
(i) Shravan Vidhi means listening, attentively to what the Guru says.
(ii) Manan Vidhi is the method of meditating over what the Guru has taught.
(iii) Nididhyasan Vidhi is the method of reaching the conclusion correctly.
Which of the above statement/s is/are correct ?
A:-Only (i and ii)
B:-Only (ii and iii)
C:-Only (i and iii)
D:-All of the above (i, ii and iii)
Correct Answer:- Option-D

Question79:-Considering the following pairs :

Author Works
i. Herbert Spencer - Social Statics
ii. Francis Bacon - Elementarie
ii. Richard Mulcaster - The New Atlantis

Which of the pairs given above is/are correctly matched ?
A:-Only (i and ii)
B:-Only (ii)
C:-Only (i)
D:-Only (i and iii)
Correct Answer:- Option-C
Question80:-Which of the following is not an example of LMS (Learning Management System) ?
A:-Blackboard Learn
B:-Quetext
C:-Google Classroom
D:-Moodle
Correct Answer:- Option-B
Question81:-The role of Accredited Social Health Activist (ASHA) is

i. Facilitating access to health care services.
ii. Building awareness about health care entitlements.



iii. Promoting healthy behaviour and mobilising collective actions.
iv. Meeting curative care needs.

A:-All the above

B:-(i, ii and iii)
C:-(i, ii and iv)
D:-(i, iii and iv)

Correct Answer:- Option-A

Question82:-The Chief Information Commissioner and Information Commissioners shall be appointed by the President of India on the basis of the recommendations of a committee
consisting of

A:-Prime Minister, Leader of Opposition and Chief Justice of India

B:-Prime Minister, Leader of Opposition and A Union Minister nominated by the Prime Minister
C:-Prime Minister, Leader of Opposition and Cabinet Secretary

D:-Prime Minister, Leader of Opposition and Home Minister

Correct Answer:- Option-B

Question83:-Match the following :

i. K. C. Wheare a. Co-operative federalism

ii. Grenville Austin b. Federal Constitution
iii. Ivor Jennings c. Federation with a strong centralising tendency
iv. C.F. Alexander d. Quasi Federation

A:-(i-d,ii-a,iii-candiv-b)
B:-(i- ¢, ii - d, iii -aand iv - b)
C:-(i-d,ii-b,iii-aandiv-c)
D:-(i-d, ii - c,iii-aandiv - b)
Correct Answer:- Option-A
Question84:-Which of the following is/are correct related to the judicial independence of India ?
i. Appointment procedure through Collegium.
ii. Barring discussion in state/central legislature with respect to the conduct of judges in
discharge of their duties.
iii. Expenditure related to salaries and allowances of the judges is not put to the vote of the
legislature.
A:-(i only)
B:-(i and ii only)
C:-(All the above)
D:-(None of the above)
Correct Answer:- Option-C
Question85:-Consider the following statements and identify the correct sets.
i. Fundamental duties are confined to the citizens sets.
ii. Right to Education is incorporated as Article 21 A in the Constitution.
iii. Vice President of India is elected by an electoral college consisting of the members of both
Houses of Parliament.
A:-(i and ii)
B:-(i, ii and iii)
C:-(i and iii)
D:-None of the above
Correct Answer:- Option-B
Question86:-Which of the following statement is/are correct about the the Amendment procedure of the Constitution ?
A:-Disagreement between the two Houses on Amendment can be solved through a joint session of the both Houses of Parliament.
B:-Disagreement between the two Houses on Amendment can be solved through a casting vote of the Speaker.
C:-Disagreement between the two Houses on Amendment can be solved through an order of the President.
D:-The procedure for joint session of two Houses of Parliament is applicable only to ordinary bills.
Correct Answer:- Option-D
Question87:-The State Consumer Protection Council is chaired by
A:-The Minister in charge of the Department of Consumer Affairs
B:-The Chief Commissioner
C:-Chief Minister
D:-Judicial member
Correct Answer:- Option-A
Question88:-The guiding principle(s) of Aajeevika-National Rural Livelihood Mission is/are
i. Poor have a strong desire to come out of poverty and they have innate capabilities
to do so.
ii. Social mobilisation and building strong institutions of the poor is critical for unleashing the
innate capabilities of the poor.
An external dedicated and sensitive support structure is required to induce the social
mobilisation, institution building and empowerment process.

Facilitating knowledge dissemination, skill building, access to credit, access to marketing
and access to other livelihood services underpins this upward mobility.

z

A:-(All the Above)

B:-(i and iv only)



C:-(i and iii only)
D:-(i, ii and iii)
Correct Answer:- Option-A
Question89:-Consider the following statements regarding the writ of Mandamus and identify the incorrect.
i. Mandamus cannot be issued against the President of India or Governor of a state.
ii. Mandamus cannot be issued against a private individual.
iii. Mandamus cannot be issued against a company incorporated under Companies Act and
has no statutory public duty.
iv. Mandamus cannot be issued against the Legislature.
A:-(i and iv only)
B:-(ii and iii only)
C:-(All the above)
D:-(None of the above)
Correct Answer:- Option-D
Question90:-Which of the following is the comprehensive scheme for prevention of trafficking and Rescue ?
A:-Swadhar
B:-Ujjawala
C:-Beti Bachao, Beti Padhao
D:-AMRUT
Correct Answer:- Option-B
Question91:-Which of the following statement is/are correct about Renaissance leaders of Kerala ?
i. Swami Vagbhatananda started Atma Vidya Sangam.
ii. Vaikunda Swami founded an organisation called Samatva Samajam.
iii. Bramananda Sivayogi was the author of Ananda Sutram.
iv. Chattampi Swamikal worked in close co-operation with Sahodaran Ayyappan.
A:-Only (i, ii and iii)
B:-Only (i and ii)
C:-Only (i and iii)
D:-Only (ii, iii, iv)
Correct Answer:- Option-A
Question92:-Which of the following are true about Malabar District Conference ?
i. Annie Besant was the President of Malabar District Congress.
ii. It was conducted in the year 1916.
iii. A. K. Gopalan was the active member of this Congress.
iv. K. P. Kesava Menon was the secretary of this Congress.
A:-Only (ii and iii)
B:-Only (i and ii)
C:-Only (iii and iv)
D:-Only (i and iii)
Correct Answer:- Option-B

Question93:-Match the following :

A. Islam Dharma Paripalana Sangham 1. C. P. Govinda Pillai

B. Kerala Pazhama 2. Vakkom Abdul Khadar Moulavi
C. Swadesabhimani 3. P. Govindha Menon

D. Kochi Rajya Prajamandalam 4. Dr. Gundart

A:-A-2, B-4, C-1, D-3
B:-A-4, B-3, C-2, D-1
C:-A-3, B-4, C-2, D-1
D:-A-1, B-2, C-3, D-4
Correct Answer:- Option-A
Question94:-Which of the following statement is/are correct about Press in Renaissance ?
i. Vivekodayam is a Malayalam journal established in 1912.
ii. Mithavadi newspaper spread the message of Reformist Movement.
iii. Samadarshi newspaper was started under the leadership of Kulakunnath Rama Menon.
iv. Muhammed Abdur Rahiman was the founder of Al Ameen newspaper.
A:-Only (i, ii, iii)
B:-Only (i, iii, iv)
C:-Only (ii, iii, iv)
D:-Only (i, ii, iv)
Correct Answer:- Option-C
Question95:-Which of the following statement is/are correct about literary figures of Kerala ?
i. N. Gopala Pillai translated Asan's Chintavishtayaya Sita in to Sanskrit.
ii. Kodungallur Kunjikuttan Thampuran translated Mahabharata within 874 days.
iii. 0. Chandu Menon published Indulekha in 1849.
iv. Ponkunnam Varkey was the Secretary of Kerala Sahitya Academy.
A:-Only (i, ii and iii)
B:-Only (i and ii)
C:-Only (i and iv)

D:-Only (i, i, iv)



Correct Answer:- Option-B
Question96:-Which of the following statement is/are correct about space exploration ?

i. First Indian to reach space was Sq. Ldr. Rakesh Sharma as part of joint Indo-U.S. flight
in 1984.

ii. First woman in space was Lt. Col. Valentina Terescova went to space in Vastok-6 on
16 June 1963.

iii. First man to propound the space light laws was Sir Isaac Newton in his book Mathematical
principles of Natural Philosophy.
A:-Only (i and ii)
B:-Only (i and iii)
C:-All the above (i, ii and iii)
D:-Only (ii and iii)
Correct Answer:- Option-D
Question97:-Which of the following statement is/are correct about the Constitution of India ?

i. The elections were held for the formation of the Constituent Assembly under the August
Offer of 1940.

ii. Harendra Kumar Mukerjee was the Vice President of the Constituent Assembly.
iii. The provisions regarding the method of nomination of members to Rajya Sabha was taken
from the Constitution of Ireland.
A:-Only (i and ii)
B:-Only (i and iii)
C:-Only (ii and iii)
D:-All the above (i, ii and iii)

Correct Answer:- Option-C

Question98:-Match the following questions :

Particulars on Economic Planning in India Year of the event
A. National Planning Committee of INC 1. 1944

B. Bombay Plan 2.1950

C. Peoples Plan 3.1938

D. Sarvodaya Plan 4.1945

A:-A-2, B-1, C-4, D-3
B:-A-3, B-2, C-1, D-4
C:-A-3, B-1, C-4, D-2
D:-A-3, B-4, C-1, D-2
Correct Answer:- Option-C

Question99:-In the question given below, there are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes provided below :
Assertion (A) : Iranian film Nargesi directed by Payam Eskandari has won the ICFT-UNESCO

Gandhi Medal at the 53rd edition of International Film Festival of India.
Reason (R) : IFFI (International Film Festival of India), ICFT (International Council for

Film and Television), Paris and UNESCO come together to present the

Gandhi Medal to one film that best reflects Mahatma Gandhi's ideals of

peace, tolerance and non-violence once in every five years.

A:-Both (A) and (R) are true and (R) is the correct explanation of (A)
B:-Both (A) and (R) are true and (R) is not the correct explanation of (A)
C:-(A) is true but (R) is false

D:-(A) is false but (R) is true

Correct Answer:- Option-C

Question100:-In the question given below, there are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes provided below :
Assertion (A) : The Indian Navy conducted a structured exercise to evaluate organizational
effectiveness in protecting offshore assets of Mumbai on an Oil and Natural
Gas Corporation (ONGC) platform 150 km into the sea. The exercise was
named 'Prasthan' by the Indian Navy.
Reason (R) : Prasthan is conducted twice a year under the aegis of Headquarters, Western
Naval Command. The exercise which is conducted every six months aims
to integrate the efforts of all maritime stakeholders involved in offshore
defense.

A:-Both (A) and (R) are true and R is the correct explanation of (A)
B:-Both (A) and (R) are true and (R) is not correct explanation of (A)
C:-(A) is true but (R) is false

D:-(A) is false but (R) is true

Correct Answer:- Option-A



